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ĐỀ CƯƠNG ÔN TẬP KIỂM TRA HỌC KỲ II 

MÔN TIẾNG ANH K12 

I. Mục đích yêu cầu:

1. Mục đích:



+ Nhằm giúp học sinh ôn tập, hệ thống lại kiến thức đã học.


+ Hướng dẫn học sinh làm quen với các dạng bài có trong kỳ thi.

2. Yêu cầu:


+ Học sinh cần có sự chuẩn bị trước: tự xem lại ngữ pháp, từ vựng đã học, làm đề cương có kèm theo giải thích.


+ Học sinh cần học thuộc lòng các cấu trúc ngữ pháp, từ vựng, chú ý cách phát âm các từ.

+ Học sinh cần chú ý các kĩ năng nối câu, viết lại câu, đọc hiểu… 
II. Nội dung:

1. Pronunciation:

- The pronunciation of the ending ‘s’, ‘ed’

- Stress in two-syllable, three-syllable, more than three-syllable words.

2. Vocabulary: 

- Từ vựng liên quan các chủ đề đã học.
3. Grammar:

- Tenses









- Subject – verb agreement

- Reported speech 

- Passive Voice








- Relative clauses







- Prepositions and Articles

- Conditional sentences

- wish, if only, would rather

- demand/ request … that + S + V

- It is imperative/ important … that + S +V

- It’s time + S + Ved




- Conjunctions

- Verb form
(V/ To V/ V-ing ) / (Ving/ having PII/ PII)


- Word form






- Quantities  
- Inversion

- Collocation

- Idioms

- …………….
4. Reading: 

- Read the passage, choose the best answers

- Read the passage; choose the best option to fill in each blank

5. Writing:

- Choose the best sentence which is rewritten from the given one.

- Combine the pairs of sentences using relative pronouns, conjunctions …

- Find out parts of the sentence which need correcting
PRACTICE TEST   1

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

1. A. dishes
B. oranges
C. experiences
D. chores

2. A. gold 
B. region 
C. organize 
D. game

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

3. A. conserve
B. conscious
C. preserve
D. prevent

4. A. atmosphere
B. emission
C. combining
D. pollution

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

5. In space, with no gravity for muscles to work against, the body becomes weakly.                       

                          A
                               B           C                       D
6. Full-time university students spend all their time study.


          A
   B             C           D

7. High blood pressure results from either an increased output of blood from the heart and an increased resistance


                                  A   
                        B

           C



to its flow through tiny branches of the arteries.              

                  

           D

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

8. He ________ for twenty years before he retired last year


A. had been teaching  
B. has taught
C. was teaching
D. has been teaching

9. Loving his country, he was willing to_________ his blood and fate. Fortunately, he is still alive. 


A. live
B. hide
C. sacrifice
D. die

10. Many high school students in Vietnam have to work very hard to _______ at a university. 


A. win a place
B. get a cold
C. back you up
D. do away with

11. The girls and flowers _________ he painted were vivid.


A. whose
B. that
C. which
D. who

12. His letter is full of mistakes. He ________ the mistakes carefully before sending it.


A. must have checked
B. should have  6.﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽checked C. can have checked
D. could have checked

13. What does "www" ________ for? Is it short for “world wide web?”


A. sit 
B. stand 
C. lie 
D. point

14. There’s no danger in using this machinery ________ you adhere the safety regulations.


A. because
B. in case
C. although
D. as long as

15. British and Australian people share the same language, but in other respects they are as different as _________.

A. cats and dogs
B. chalk and cheese  
C. salt and pepper
D. here and there

16. ______ should a young child be allowed to play with fireworks without adult supervision


A. Under no circumstances  B. No sooner than C. Always
D. Only when

17. I just can't ______ that noise any longer!


A. put up with
B. stand in for
C. sit out
D. stand up to

18. Last year Matt earned ________ his brother, who had a better position.


A. twice as much as
B. twice more than
C. twice as more as
D. twice as many as

19. It is essential that every student _________ to learn English at university.


A. had
B. have
C. has
D. to have

20. A / an _______ species is a population of an organism which is at risk of becoming extinct.

A. dangerous 
B. endanger 
C. endangered 
D. endangerment

21. The school year usually starts _____ the beginning of September and ends in late of May.

A. in
B. on
C. with
D. at

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.

22. Minh. I think you’ve played very splendidly in the match, Nam!

Nam. Thank you. That’s a nice compliment. I wish I could do _________ you. I’m still terrible. 


A. half as well as
B. double as well as
C. as badly as
D. far worse than 

23. - Anne. “Make yourself at home”     - John. “ ____________”


A. Thanks! Same to you

B. That’s very kind. Thank you


C. Not at all. Don’t mention it
D. Yes, Can I help you?

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

24. During the recession, many small companies were eradicated.


A. run on
B. taken over
C. wiped out
D. set up

25. Without my glasses I can't see where I'm going in fact I'm as blind as a bat.

  
A. very short sighted
B. very long sighted
C. very far sighted
D. very clear sighted

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

26. He is the man who owns all the land and is the big fish around here.

  
A. the inessential man
B. the huge man
C. the important man
D. the enormous man

27. Because Jack defaulted on his loan, the bank took him to court. 


A. failed to pay 
B. paid in full
C. had a bad personality 
D. was paid much money

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the sentences given.

28. “You mustn’t get into the area,” the policeman said. 

A. The policeman stopped them from getting into the area. 
B. The policeman denied from getting into the area. 

C. The policeman wanted them to get into the area.  

D. The policeman suggested getting into the area. 

29. It was your assistance that enabled us to get achievement. 

A. But for your assistance, we could not have got achievement. 

B. Your assistance discouraged us from get achievement. 

C. If you assisted us, we could not get achievement. 

D. Without your assistance, we could get achievement. 

30. They got success since they took my advice.

A. They took my advice, and failed.

B. If they did not take my advice, they would not get success.

C. But for taking my advice, they would not have got success.

D. My advice stopped them from getting success.

Mark the letter A, B, C, or D on your answer sheet to show the part that best combines each pair of sentences in the following questions
31. My father came home a bit late last night. It started raining heavily after that.

A. My father came home a bit late when it started raining

B. It had rained heavily before my father came home last night

C. It was raining heavily when my father came home last night.

D. No sooner had my father come home than it started raining heavily last night.

32. This is the battle field. The soldiers fought there.

A. This is the battle field which the soldiers fought. 

B. This is the battle field that the soldiers fought. 

C. This is the battle field where the soldiers fought there. 
D. This is the battle field where the soldiers fought. 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.


If women choose to pursue a career once they have children, they often miss out on a close (33) _______with their children. Helen Jamieson is a mother of three who has given (34) _______work to look after her children full-time. She strongly believes that women are pressurized to do too much, driving themselves to the absolute limit. In her own case, after six years of paid employment, Helen finally decided to call it a day. She says she initially found it hard being at home, though she never misses the job itself. She admits that if she had had a brilliant career to begin (35) _______, she might feel differently now. Financially, she is no worse off (36) _______ before, as the cost of childcare and commuting exceeded her actual income. (37) _______the government starts to give other tax incentives to working parents, she says she will not return to the workplace until her children are grown up. 

33. A. relationship 
B. friendship   
    C. scholarship   
D. membership 

34. A. in 
B. to 
    C. out 
D. up

35. A. to 
B. up 
    C. at 
D. with

36. A. than
B. so
    C. as 
D. then

37. A. Unless       
B. Even if
    C. Provided
D. If

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

After inventing dynamite, Swedish-born Alfred Nobel became a very rich man. However, he foresaw its universally destructive powers too late. Nobel preferred not to be remembered as the inventor of dynamite, so in 1895, just two weeks before his death·, he created a fund to be used for awarding prizes to people who had made worthwhile contributions to humanity. Originally there were five awards: literature, physics, chemistry, medicine, and peace. Economics was added in 1968, just sixty-seven years after the first awards ceremony. 


Nobel's original legacy of nine million dollars was invested, and the interest on this sum is used for the awards which vary from $30,000 to $125,000. 


Every year on December 10, the anniversary of Nobel's death, the awards (gold medal, illuminated diploma, and money) are presented to the winners. Sometimes politics plays an important role in the judges' decisions. Americans have won numerous science awards, but relatively few literature prizes. 


No awards were presented from 1940 to 1942 at the beginning of World War II. Some people have won two prizes, but this is rare; others have shared their prizes. 

38. The Nobel prize was established in order to ________. 


A. recognize worthwhile contributions to humanity   B. resolve political differences 


C. honor the inventor of dynamite
          D. spend money 

39. In how many fields are prizes bestowed? 


A. 2 
B. 5 
C. 6 
D. 10 

40. In the first paragraph, "worthwhile" is closest in meaning to ___ 


A. economic 
B. prestigious 
C. trivial 
D. valuable 

41. How much money did Nobel leaves for the prizes? 


A. $30,000
B. $125,000 
C. $155,000 
D. $9,000,000 

42. What is the main idea of this passage? 


A. Alfred Nobel became very rich when he invented dynamite. 


B. Alfred Nobel created awards in six categories for contributions to humanity. 


C. Alfred Nobel left all of his money to science 


D. Alfred Nobel made a lasting contribution to human

Read the following passage and mark the   letter A, B, C, or  D on your  answer sheet to indicate the correct answer to each of the questions.

CONSERVING THE WORLD’S NATURAL RESOURCES

 In the decade of the 1970s, the United Nations organized several important meetings on the human environment to study a very serious problem. We humans are destroying the world around us. We are using up all of our natural resources. We must learn to conserve them, or life will be very bad for our children and our grandchildren.

There are several major parts to this problem.

Population: Most problems of the environment come from population growth. In 1700 there were 625 million people in the world. In 1900 there were 1.6 billion, in 1950 2.5 billion, and in 1980 4.4 billion. In the year 2010 there will be well over 6 billion. More people need more water, more food, more wood, and more petroleum.

Distribution: Scientists say there is enough water in the world for everyone, but some countries have a lot of water and some have only little. Some areas get all their rain during one season. The rest of the year is dry. There are huge forests in the Amazon area of Brazil. In other parts of the world there is only desert.

Petroleum: We are using up the world’s petroleum. We use it in our cars and heat our building in winter.

Farmers can use petrochemical to make the soil rich. They use to kill insects that eat plants. These chemical go into rivers and lakes and kill the fish there. Thousands of people also die from these chemicals every year. Chemical also go into the air and pollute it. Winds carry this polluted air to other countries and other continents.

Poverty: Poor farmers use the same land over and over. The land needs a rest so it will be better next year. However, the farmer must have food this year. Poor people cut down trees for firewood. In some areas when the trees are gone, the land becomes desert. However, people need wood to cook their food now. Poor people cannot save the environment for the future.

We now have the information and the ability to solve these huge problems. However, this is not a problem for one country or one area of the world. It is a problem for all humans. The people and the nations of the world must work together to conserve the world’s resources. No one controls the future, but we all help make it.

43. We humans are destroying our_________ .


A. natural resources
B. farms
C. deserts
D. environment

44. Our natural resources are_________ .


A. running out
B. being disused
C. being destroyed
D. being wasted

45. The phrase “using up” is closest in meaning to_________ .


A. using it to increase the amount of
B. using all of it


C. using it for a short time
D. trying to preserve

46. Most environmental problems come from_________ .


A. forests
B. too much rain
C. population growth
D. poor distribution

47. The word “them” in paragraph 1 refers to_________ .


A. our children and grandchildren
B. the United Nations


C. our natural resources

B. human beings

48. According to the passage, petrochemical help farmers to_________ .


A. enrich the soil

B. kill insects and plants


C. kill fish in rivers and lakes
D. pollute the air in many countries

49. Which of the following is not mentioned as a major cause of the problem?


A. population growth

B. distribution of natural resources


C. use of petroleum 

D. lack of rain in certain areas

50. Which of the following statement is not true?


A. People must work together to save the environment      B. We control the future 


C. We have the ability to solve environmental problems.   D. We help make the future

PRACTICE TEST   2
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronuciation in each of the following questions.
1. A. concerned 
B. received 
C. developed 
D. cleared
2. A life
B. tight
C. child
D. children 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
3. A. rescue 
B. matter 
C. delete
D. journey

4. A. visible
B. solution 
C. surrounding 
D. arrival

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
5. She asked  why did Mathew look so embarrassed when he saw Carole.

             A                   B                               C                       D

6. I’d prefer to do it on myself, because other people make me nervous.

             A                      B                        C                  D

7. Hadn’t I known you were in financial difficulty, I would not have helped you.


    A                         B   C
                                                  D

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
8. You can _______ the new words in the dictionary.


A. look up
B. look for
C. look after
D. look forward

9.  She went to the bookshop ___________.


A. so that to buy some books
B. in order that buy some books


C. so as to buying some books
D. so as to buy some books

10. You are __________ to do the washing-up and clean the kitchen.


A. supposed
B. imagined
C. declared
D. spoken

11. Volunteers _______ a hand to the community by helping those who have been affected by Agent Orange.


A. lend
B. take
C. make
D. shake

12. The boy ______ family is poor is very intelligent.


A. who
B. whom
C. whose
D. that

13. The bomb went ______ with a loud bang which could be heard all over the town.


A. on
B. up
C. off
D. over

14. That man over there is collecting money for _______blind.


A. a
B. an
C. the
D. x

15. It is becoming ______ to find a job.


A. harder and hard
B. harder and harder
C. hard and hardly  
D. more harder and harder.  

16. Yesterday, I had to cram all day for my French final. ______, I did not get to sleep until after midnight.


A. But
B. Therefore
C. Nevertheless
D. However

17. It's _____ important that we finish this work by the end of the week.


A. terribly
B. vitally
C. well
D. great

18. I wish you ______ to my party last week, but you didn't.


A. came
B. will come
C. would come
D. had come

19. The flowers______ in a warm sunny place.


A. should keep
B. should kept     
C. should be keep 
D. should be kept

20. Migrant workers are________ to exploitation. 


A. eager 
B. vulnerable 
C. available 
D. considerate 

21. It's no____________ asking him for anything seeing that he's not very responsive to our requests.


A. well 
B. fine 
C. need 
D. good

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined word(s) in each of the following questions.  
22.  Humans depend on species diversity to provide food, clean air and water, and fertile soil for agriculture.


A. destruction 
B. contamination 
C. fertilizer 
D. variety

23. We went away on holiday last week, but it rained day in day out.


A. every single day
B. every other day
C. every second day 
D. every two days

Mark the letter A,B,C or D on your sheet to indicate the word(s) OPPOSITE  in meaning to the underlined words in each of the following questions.

24. “That is a well-behaved boy whose behaviour has nothing to complain about”  


A. good behavior
B. behaving improperly  C. behaving nice
D. behaving cleverly

   25. After five days on trial, the court found him innocent of the crime and he was released.

A. benevolent 
B. innovative 
C. naive 
D. guilty
Mark the letter A, B, C or D on your sheet to indicate the sentence that is closest in meaning to each of the following questions.

26. It is believed that the man escaped in a stolen car.

A. The man is believed to have escaped in a stolen car.
  B. The man is believed to be escaped in a stolen car.                  

C. The man was believed to be escaped in a stolen car.
D. They believed that the man stole the car.

27. The thieves wore gloves so as to avoid leaving any fingerprints.

A. The thieves wore gloves so as to not leave any fingerprints.



B. The thieves wore gloves so that not leave any fingerprints.

C. The thieves wore gloves in order not to leave any fingerprints.

D. The thieves wore gloves in order to not leave any fingerprints.

28.  “Don’t forget to phone the police,” she said.

A. She reminded him not forget to phone the police.

B. She told him to forget not to phone the police.

C. She reminded him to phone the police. 
D. She reminded him about phoning the police.

Mark the letter A,B,C or D on your sheet to indicate the sentence that best combines each pair of sentences in the following questions.

 29. The coffee was very hot. I couldn’t drink the coffee.

A. The coffee is so hot that I can’t drink it.
B. The coffee is so hot that I can’t drink.

C. The coffee was so hot that I couldn’t drink. 
D. The coffee was so hot that I couldn’t drink it.

30. My father came home a bit late last night. It started raining heavily after that.

A. My father came home a bit late when it started raining

B. It had rained heavily before my father came home last night

C. It was raining heavily when my father came home last night.

D. No sooner had my father come home than it started raining heavily last night.

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.  
31. Son:   “I have passed my driving test.”     - Dad: “____________”.

A. Do you?
B. It is nice of you to say so.   C. That is a good idea. D. Congratulations! 

32. “Cigarette?” – “____________”.

A. I smoke five cigarettes a day  B. It’s very expensive    C. Not really

D. No, thanks
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

Over the next 20 to 50 years, it will become harder to tell the (33) _____ between the human and the machine. All, body parts will be replaceable. Computers will function like the human brain with the ability to recognize feelings and respond in a feeling way. They will then produce fake people. We will then be able to create a machine duplicate of ourselves so we will appear to be alive long after we are dead. Maybe (34) _____ decades later, a way will be found to transfer our spirit, including our memories and thoughts, to the new body. Then we can choose to live for as long as we want. It might be expensive. When it becomes possible to do a spirit transfer, they will figure out (35) _____ to do them automatically. So we will be able to reside within whichever duplicate we want, whenever we want. 

Miniature robots will be built to travel through your blood stream and repair damage. Also, larger robots will be used when you are sick. When you have an upset stomach, you will swallow a very small cherry tasting robot (36) _____ will travel through your stomach taking video of the mess. It will be set up like a video game, so you can control the exploring and the selection of images. Then you can replay the video to help a doctor (37) _____ your illness, or to prove to your employer that you really, were sick. 

33.  A. different 
B. differently
C. difference 
D. differ

34. A. a little
B. a few
C. a lot 
D. much

35. A. what 
B. when 
C. why
D. how

36. A. which
B. what 
C. who 
D. where

37. A. notice 
B. diagnose 
C. watch 
D. observe

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions from 36 to 42

Plants and animals will find it difficult to escape from or adjust to the effects of global warming. Scientists have already observed shifts in the lifecycles of many plants and animals, such as flowers blooming earlier and birds hatching earlier in the spring. Many species have begun shifting where they live or their annual migration patterns due to warmer temperatures. 

With further warming, animals will tend to migrate toward the poles and up mountainsides toward higher elevations. Plants will also attempt to shift their ranges, seeking new areas as old habitats grow too warm. In many places, however, human development will prevent these shifts. Species that find cities or farmland blocking their way north or south may become extinct. Species living in unique ecosystems, such as those found in polar and mountaintop regions, are especially at risk because migration to new habitats is not possible. For example, polar bears and marine mammals in the Arctic are already threatened by dwindling sea ice but have nowhere farther north to go. 

      Projecting species extinction due to global warming is extremely difficult. Some scientists have estimated that 20 to 50 percent of species could be committed to extinction with 2 to 3 Celsius degrees of further warming. The rate of warming, not just the magnitude, is extremely important for plants and animals. Some species and even entire ecosystems, such as certain types of forest, may not be able to adjust quickly enough and may disappear. 

Ocean ecosystems, especially fragile ones like coral reefs, will also be affected by global warming. Warmer ocean temperatures can cause coral to “bleach”, a state which if prolonged will lead to the death of the coral. Scientists estimate that even 1 Celsius degree of additional warming could lead to widespread bleaching and death of coral reefs around the world. Also, increasing carbon dioxide in the atmosphere enters the ocean and increases the acidity of ocean waters. This acidification further stresses ocean ecosystems. 

38. Scientists have observed that warmer temperatures in the spring cause flowers to_______. 

A. die instantly 
B. bloom earlier 
C. become lighter 
D. lose color 

39. According to paragraph 2, when their habitats grow warmer, animals tend to move ______. 

A. south-eastwards and down mountainsides toward lower elevations 

B. north-westwards and up mountainsides toward higher elevations 

C. toward the North Pole and down mountainsides toward lower elevations 

D. toward the poles and up mountainsides toward higher elevations 

40. The pronoun “those” in paragraph 2 refers to ______. 

A. species 
B. ecosystems 
C. habitats 
D. areas 

41. The phrase “dwindling sea ice” in paragraph 2 refers to ______. 

A. the frozen water in the Arctic 
B. the violent Arctic Ocean 

C. the melting ice in the Arctic 
D. the cold ice in the Arctic 

42. It is mentioned in the passage that if the global temperature rose by 2 or 3 Celsius degrees, ______. 

A. half of the earth’s surface would be flooded 
B. the sea level would rise by 20 centimeters 

C. water supply would decrease by 50 percent 
D. 20 to 50 percent of species could become extinct 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Cooperation is the common endeavor of two or more people to perform a task or reach a jointly cherished goal. Like competition and conflict, there are different forms of cooperation, based on group organization and attitudes.

In the first form, known as primary cooperation, group and individual fuse. The group contains nearly all of each individual’s life. The rewards of the group’s work are shared with each member. There is an interlocking identity of individual, group and task performed. Means and goals become one, for cooperation itself is valued.

While primary cooperation is most often characteristic of preliterature societies, secondary cooperation is characteristic of many modern societies. In secondary cooperation, individuals devote only part of their lives to the group. Cooperation itself is not a value. Most members of the group feel loyalty, but the welfare of the group is not the first consideration. Members perform tasks so that they can separately enjoy the fruits of their cooperation in the form of salary, prestige, or power. Business offices and professional athletic teams are examples of secondary cooperation.

In the third type, called tertiary cooperation or accommodation, latent conflict underlies the shared work. The attitudes of the cooperating parties are purely opportunistic: the organization is loose and fragile. Accommodation involves common means to achieve antagonistic goals: it breaks down when the common means cease to aid each party in reaching its goals. This is not, strictly speaking, cooperation at all, and hence the somewhat contradictory term antagonistic cooperation is sometimes used for this relationship.

43. What is the author’s main purpose in the first paragraph of the passage?


A. To offer a brief definition of cooperation


B. To explain how cooperation differs from competition and conflict


C. To urge readers to cooperate more often


D. To show the importance of group organization and attitudes

44. The word cherished in paragraph 1 is closest in meaning to _______


A. agreed on
B. prized
C. defined
D. set up

45. Which of the following statements about primary cooperation is supported by information in the passage?


A. It is an ideal that can never be achieved


B. It was confined to prehistoric times


C. It is usually the first stage of cooperation achieved by a group of individuals attempting to cooperate


D. It is most commonly seen among people who have not yet developed reading and writing skills

46. According to the passage, why do people join groups that practice secondary cooperation?


A. To get rewards for themselves
B. To defeat a common enemy


C. To experience the satisfaction of cooperation
D. To associate with people who have similar backgrounds

47. Which of the following is an example of the third form of cooperation as it is defined in the fourth paragraph?


A. Members of a farming community share work and the food that they grow


B. Two rival political parties temporarily work together to defeat a third party


C. Students form a study group so that all of them can improve their grades


D. A new business attempts to take customers away from an established company

48. Which of the following is NOT given as a name for the third type of cooperation?


A. Accommodation
B. Latent conflict
C. Tertiary cooperation
D. Antagonistic cooperation

49. The word fragile in paragraph 4 is closest in meaning to


A. poorly planned
B. involuntary
C. inefficient
D. easily broken

50. Which of the following best describes the overall organization of the passage?


A. The author presents the points of view of three experts on the same topic


B. The author compares and contrasts two types of human relations


C. The author describes a concept by analyzing its three forms


D. The author provides a number of concrete examples and then draws a conclusion

PRACTICE TEST   3

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions

1. A. assistance
B. attention
C. patient
D. action

2. A. already
B. ease
C. team
D. appeal

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions

3. A. verbal 
B. suppose
C. even 
D. either

4. A. populous
B. dangerous
C. humorous
D. infectious
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction

5. If farmers insist on using pesticides as much as they do now, they would destroy their own living source soon.                             A                           B                                            C                                        D

6. Tom wishes that he went to the bank this morning before he went to work.                              

                  A                B                                                C                  D
7. The director was deeply impressed by the applicant about who he interviewed yesterday.                                  

                                         A             B                             C                   D

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions

8. All these textbooks _____ by the Education Publishing House.

A. have been published
B. was published 
C. are publishing
D. published

9. By 2050, medical technology ________ many diseases.

A. is conquering
B. has conquered
C. will have conquered
D. will conquered

10. No one seems to care about the environment, _________?

A. does he
B. do they
C. are they
D. don’t they
11. Why don’t you get your motorbike ________? It’s too dirty.

A. be washing
B. wash
C. washing
D. washed
12. ________ that Davis was able to quit after having worked for two months.

A. Such his job was successful
B. So tired of his job was he
C. So tired of was his job

D. So was his job tired of
13. I couldn’t ________ all the words on the sign, because they are confusing.

A. make up
B. put out
C. make out
D. take out
14. The government has ______ measures to promote the development of the economy.

A. achieved
B. made
C. taken
D. carried
15. The leaders of the governments in the debate suggested that the problem of air pollution ______ as quickly as possible.

A. to be solved
B. be solved
C. solves
D. should solve
16. Sales were poor last month; _________, there has been an increase this month.

A. otherwise
B. because
C. moreover
D. however
17. Sport competitions are held to ________ cooperation and solidarity among countries.

A. grow
B. upgrade
C. spring up
D. promote

18. The land was bought quickly ________ delay the building work.

A. not to
B. so not to
C. so not that
D. so as not to
19. It was not until 2015 _________ to the GCSE Examination.

A. did Vietnam government apply
B. for Vietnam government to apply
C. that Vietnam government has applied   
D. that Vietnam government applied

20. The Red Cross is an international organization that helps people who are suffering from the results of war, diseases or _______.

A. victims 
B. disasters 
C. opportunities 
D. conditions

21. Whether the construction of the new road comes true is ____________ winning the support of local residents.

A. thanks to 
B. reliant on
C. dependent on
D. responsible to

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges

22. Brad: Would you mind taking those bags to the second floor?
  Lary: ___________.

A. Yes, of course. Are you sick
B. Yes, I would
C. No, I wouldn’t carry them
D. No, not at all. I will help you
23. Hoa: Hanoi must be the most interesting city of Vietnam, don’t you think?

  Mai: _____________.

A. No, I think so                 
B. No, I don’t like
C. Yes, I’d love to
D. It might be, I don’t know
Mark the letter A, B, C, or D on your answer sheet to indicate that is closest in meaning to each of the following questions

24. Both Peter and Mary enjoy being admitted to Ha Noi University.

A. Peter enjoys being admitted to Ha Noi University but Mary doesn’t.
B. Peter enjoys being admitted to Ha Noi University, and so does Mary.
C. Peter enjoys being admitted Ha Noi to University. Therefore, does Mary.
D. It is Peter, but Mary, that enjoys being admitted to Ha Noi University.
25. I would prefer you not to smoke in here.

A. I’d rather you don’t smoke in here.
B. I’d rather you didn’t smoke in here.
C. I’d rather you not to smoke in here.
D. I’d rather you shouldn’t smoke in here.
26. The book interested me more than the film.

A. I thought the book was more interesting than the film.
B. I thought the book was not interesting as the film.
C. I thought the book was more interested than the film.
D. I thought the book was not as interesting as the film.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of the sentences in the following questions

27. I can't stand this weather. It's getting worse and worse.

A. The weather is making me worse.     
B. The weather is not better but I can stand it.

C. I can't stand up in this bad weather.
D. I can't bear this bad weather any more.  

28. I know they are from Hong Kong. I am not sure if they speak English.

A. I know that they are Hong Kong people, so they must be able to speak English.
B. Because they are Hong Kong people, they probably know how to speak English.
C. I’m not certain whether or not they speak English, but I’m aware that they are Hong Kong people.
D. I believe they are Hong Kong people, which means that they are probably able to speak English.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions

29. Around 150 B.C. the Greek astronomer Hipparchus developed a system to classify stars according to brightness.

A. shine
B. record
C. categorize
D. diversify

30. My girlfriend doesn’t want to go to university. She sets her heart on becoming a film star.

A. is fond of
B. is responsible for 
C. takes care of
D. is like the heart of a film star 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE  in meaning to the underlined word(s) in each of the following questions

31. Fill each of the blanks below with a suitable word from the reading passage.

A. unimportant
B. irrelevant
C. uninteresting
D. impossible

32. A knee injury forced her to withdraw from the competition.

A. advance
B. want
C. need
D. reduce
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks.

Back in the 1960s and 1970s, the world was becoming more aware of the destructive effects of industry (33)__________ the environment and people were starting to think seriously about ways of protecting the environment. One man who was particularly affected by this subject was Gerard Morgan-Grenville. As Morgan-Grenville travelled round earning his living as a gardener, he noticed signs of the damage that was being done to the countryside around him. It wasn't long before Morgan-Grenville decided that he had to do something about this situation. He felt that if people could be shown a better way of living then maybe they would be interested enough to try to protect their (34)__________ environment.

Mr.  Morgan-Grenville  decided  to   set  up  a  project  (35)__________ would prove what was happening to our surroundings and what could be done about it. So, in 1975, Morgan- Grenville created the Centre for Alternative Technology (CAT) in a village in Wales.

The main aim of CAT is to search for an ecologically better way of living by using technology which (36)__________ no harm to the environment. One of the most important things    CAT did initially was to explore and demonstrate a wide range of techniques and to point out which ones had the least destructive results on the world around us. (37)__________, CAT provides information and advice to people all over Britain and all over the world. If more and more individuals are informed about how much damage our modern lifestyle is causing to the planet, maybe more of them would be prepared to look for practical solutions to environmental problems.

33. A. for
B. to
C. with
D. on 

34. A. worthless
B. valueless
C. precious
D. priceless 

35. A. that
B. he
C. it
D. this 

36. A. gets
B. makes
C. plays
D. does 

37. A. Therefore
B. However
C. Moreover
D. Although

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Vietnam officially became a full member of the Association of Southeast Asian Nations (ASEAN) on July 28, 1995. Since then, Vietnam has worked together with other ASEAN member countries to reinforce regional cooperation and made great contributions to maintaining peace, stability and reconciliation in the region.

In the past years in the ASEAN, Vietnam has reaped (obtained) many successes in all social and economic fields. The country has gradually restructured its administrative apparatus to suit a market economy and to integrate into the international community. Vietnam has made a good impression on ASEAN countries with its achievements in economic development especially in hunger eradication and poverty alleviation. ASEAN countries' investment into Vietnam has also increased sharply. With a high economic growth rate averaging seven percent each year, Vietnam has been able to decrease economic gap slightly with Thailand, Singapore, Malaysia, Indonesia, the Philippines and Brunei.

In addition, Vietnam actively works to integrate culturally and socially with the Southeast Asian region while preserving its own cultural features. Thirteen is not a long period for such an important political event but what has been achieved in relations between Vietnam and the association is creating splendid prospect for the future.

38. Which is the best title of the passage?


A. How Vietnam joined ASEAN.


B. Vietnam's contributions to ASEAN's development.


C. Vietnam's achievements in relation with the ASEAN community.


D. Vietnam-ASEAN: a decade of companionship and development.

39. How has ASEAN countries' investment into Vietnam also increased?


A. sharply
B. quietly
C. slowly
D. medium

40. How long has Vietnam been a full member of ASEAN?


A. For the past few years
B. Since 1995
C. As long as Singapore
D. For a decade

41.  Which word means “an end to a disagreement and the start of a good relationship again”?


A. Stability
B. Eradication
C. Impression
D. Reconciliation 

42. Which information is not given in the passage?


A. Singapore has invested a lot in the Vietnamese market. 


B. Culture is an aspect which Vietnam has focused on as an ASEAN member


C. Vietnam has played an important part in maintaining peace in the region.


D. Joining ASEAN was an important political event to Vietnam.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
 
Harvard University, today recognized as part of the top echelon of the world’s universities, came from very inauspicious and humble beginning.


This oldest of American universities was founded in 1636, just sixteen years after the Pilgrims landed at Plymouth. Included in the Puritan emigrants to the Massachusetts colony during this period were more than 100 graduates of England’s prestigious Oxford and Cambridge universities, and these university graduates in the New World were determined that their sons would have the same educational opportunities that they themselves had had. Because of this support in the colony for an institution of higher learning, the General Court of Massachusetts appropriated 400 pounds for a college in October of 1636 and early the following year decided on a parcel of land for the school; this land was in an area called Newe Towne, which was later renamed Cambridge after its English cousin and is the site of the present-day university.


When a young minister named John Harvard, who came from the neighboring town of Charlestown, died from tuberculosis in 1638, he willed half of his estate of 1,700 pounds to the fledgling college. In spite of the fact that only half of the bequest was actually paid, the General Court named the college after the minister in appreciation for what he had done. The amount of the bequest may not have been large, particularly by today’s standard, but it was more than the General Court had found it necessary to appropriate in order to open the college.


Henry Dunster was appointed the first president of Harvard in 1640, and it should be noted that in addition to serving as president, he was also the entire faculty, with an entering freshmen class of four students. Although the staff did expand somewhat, for the first century of its existence the entire teaching staff consisted of the president and three or four tutors.

43. The main idea of this passage is that__________.


A. Harvard is one of the world’s most prestigious universities


B. what is today a great university started out small

 
C. John Harvard was key to the development of a great universities


D. Harvard University developed under the auspices of the General Court of Massachusetts

44. The passage indicates that Harvard is ________.


A. one of the oldest universities in the world
B. the oldest university in the world


C. one of the oldest universities in America
D. the oldest university in America

45. It can be inferred from the passage that the Puritans who travelled to the Massachusetts colony were ________ .


A. rather well educated

B. rather rich



C. rather supportive of the English government
D. rather undemocratic

46. The pronoun “they” in the second paragraph refers to ________


A. Oxford and Cambridge universities  
B. university graduates


C. sons

D. educational opportunities

47. The “English cousin” in the second paragraph refers to a ________


A. city
B. relative
C. person
D. court

48. Which of the following is NOT mentioned about John Harvard?


A. What he died of

B. Where he came from



C. Where he was buried

D. How much he bequeathed to Harvard

49. The passage implies that  ________


A. Henry Dunster was an ineffective president


B. someone else really served as president of Harvard before Henry Dunster


C. Henry Dunster spent much of his time as president managing the Harvard faculty


D. The position of president of Harvard was not merely an administrative position in the early years

50. The word “somewhat” in the last paragraph could best be replaced by ________.

 
A. back and forth 
B. to and pro 
C. side by side
D. more or less

PRACTICE TEST   4

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

1. A. invaluable
B. investigate
C. understand
D. intensity

2. A. employ 
B. offer 
C. tutor 
D. focus

Find the word whose underlined part is pronounced differently from the others of the same group.

3. A. schedule
B. school
C. mechanic
D. chocolate
4. A. attend
B. weekend
C. dentist
D. tendency
Mark the letter A, B, C, or D on your answer sheet to show the underlined, part that needs correction.

5. Although there were a lot of opposition initially, many people now accept that infertile couples have the                                       

                                A
 B
                          C

right to medical help.


               D

6. Finished her household chores, Maria decided to do some shopping.

         A                        B 
                                    C                  D

7. There are many benefits that we may be gained by actually taking the time to read a book instead of                                                           

                                                                  A                         B                                                        C
sitting  in front of the TV or doing some other forms of mindless entertainment.

                                          D
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

8. A _______ is a very large wave, often caused by an earthquake, which flows onto the land and destroys things.

A. famine 
B. catastrophe      
C. tsunami 
D. flood

9. My father is very busy. ______, he is always willing to give a hand with the housework. 

A. Therefore
B. Although
C. Despite 
D. However

10. I had a good impression of his appearance when I first met him as he was quite _________.

A. easy- going
B. kind- hearted
C. good- looking
D. heart- breaking

11. The most important thing is to keep yourself _______.


A. occupation
B. occupant
C. occupational
D. occupied
12. You shouldn’t _______ to your teacher like that. It was very rude.

A. talk
B. have be talked
C. talked
D. have talked
13. Not until a monkey is several years old ______ to exhibit signs of independence from its mother.

A. beginning
B. does it begin
C. and begin
D. that it begins

14. It is difficult to tell identical twins _______.

A. apart
B. on
C. out
D. over

15. John lost the ______ bicycle he bought last week and his parents were very angry with him because of his carelessness.

A. beautiful Japanese blue new
B. new beautiful blue Japanese

C. beautiful new blue Japanese
D. Japanese beautiful new blue

16. They are happily married although, of course, they argue____________


A. most times 
B. from day to day
C. every now and then
D. on the occasion

17. It is imperative that this letter ______ immediately.

A. is sent
B. will be sent
C. send
D. be sent

18. I can’t help ______ him in spite of his faults.

A. admire
B. admiring
C. admired
D. to admire

19. The government tried to______ the price of petrol, but they failed.

A. bring on
B. put in
C. get over
D. bring down

20. I've told him ten times that he's got the wrong telephone number. I'll _____ crazy if they call again.


A. be
B. go
C. become
D. get

21. _______ you study for these exams, _______ you will do.

A. The more hard / the more good
B. The hardest / the best 




C. The harder / the better

D. The more / much

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

22. Whenever Susan invites us to dinner, she customarily prepares a lot of delicious food.

A. naturally
B. necessarily
C. usually
D. certainly

23. Every time he opens his mouth, he immediately regrets what he said. He is always putting his foot in his mouth.

A. Speak directly

B. making a mistake


C. doing things in the wrong order
D. saying embarrassing things

Mark the letter A, B, C, or D on your answer sheet to indicate the word (s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

24. Names of people in the book were changed to preserve anonymity.


A. conserve
B. reveal
C. presume
D. cover

25. It is inevitable that smoking will damage your health.


A. invading
B. harmful
C. avoidable
D. unhealthy

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks.

WHY READ BOOK?

 
Is it worth reading books,  (26)_____  nowadays there are so many other forms of entertainment? Some people say that even (27)_____ books are expensive, and not everyone can borrow books from a library. They might add that television is more exciting and that viewers can relax as they watch their favourite program . All that may be true, but books are still very popular. They encourage the reader to use his or her (28)_____ for a start. You can read a chapter of a book, or  just a few pages and then stop. Of course, it may be so (29)_____ that you can't stop! There are many different kinds of books, so you can choose a crime novel or an autobiography, or a book which gives you interesting information. If you find it hard to choose, you can read (30)____, or ask  friends for ideas. Personally, I can't do without books, but I can give up television easily enough. You can't watch a television at a bus stop!

26.  A. why
B. since
C. or
D.  in

27.  A. the
B. so
C. paperback
D. when

28.  A. index
B. amusement
C. author
D. imagination
29.  A. gripping  
B. imagined
C. current
D. interest

30.  A. announcements 
B. prefaces 
C. gossip
D. review
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.

31.  "Wow! What a nice coat you are wearing!"                 -"____________."


A. Thanks. My mother bought it for me.   
B. I like you to say that


C. Certainly. Do you like it, too?
D. Yes, of course.  It's expensive.

32.  "Would you like to order now?" 
       -"____________."


A. Yes, a table for five
B. It's excellent
C. Yes, I like beef salad
D. Yes, not now

Read the following passage carefully, and mark the letter A,B,C,or D to choose the ONE best answer to  each question.

Today’s cars are smaller, safer, cleaner, and more economical than their predecessors, but the car of the future will be far more pollution-free than those on the road today. Several new types of automobile engines have already been developed than run on alternative sources of power, such as electricity, compressed natural gas, methanol, steam, hydrogen, and propane. Electricity, however, is the only zero-emission option presently available. 

Although electric vehicles will not be truly practical until a powerful, compact battery or other dependable source of current is available, transport experts foresee a new assortment of electric vehicles entering everyday life: shorter-range commuter electric cars, three-wheeled neighborhood cars, electric delivery vans, bikes and trolleys.

 As automakers work to develop practical electrical vehicles, urban planners and utility engineers are focusing on infrastructure systems to support and make the best use of the new cars. Public charging facilities will need to be as common as today’s gas stations. Public parking spots on the street or in commercial lots will need to be equipped with devices that allow drivers to charge their batteries while they stop, dine, or attend a concert. To encourage the use of electric vehicles, the most convenient parking in transportation centers might be reserved for electric cars. Planners foresee electric shuttle buses, trains, buses and neighborhood vehicles all meeting at transit centers that would have facilities for charging and renting. Commuters will be able to rent a variety of electric cars to suit their needs: light trucks, one-person three-wheelers, small cars, or electric/gasoline hybrid cars for longer trips, which will no doubt take place on automated freeways capable of handling five times the number of vehicles that can be carried by freeway today.

33:   The following electrical vehicles are all mentioned in the passage EXCEPT ________.

  
A. vans 
B. trains
C. planes 
D. trolleys (xe đẩy)

34:   The word “compact” in the second paragraph is closest in meaning to ________.


A. long-range 
B. inexpensive 
C. concentrated 
D. squared

35:   In the second paragraph, the author implies that ________.


A. a dependable source of electric energy will eventually be developed.


B. everyday life will stay much the same in the future.


C. a single electric vehicle will eventually replace several modes of transportation


D. electric vehicles are not practical for the future

36:   According to the passage, public parking lots of the future will be ________.


A. more convenient than they are today 
B. equipped with charging devices


C. much larger than they are today 
D. as common as today’s gas stations

37:   The word “charging” in this passage refers to ________.


A. electricity 
B. credit cards
C. aggression
D. lightning

38:   The word “foresee” in this passage could best be replaced with ________.


A. count on 
B. invent 
C. imagine 
D. rely on

39:   The word “commuters” refers to ________.


A. daily travelers 
 B. visitors 
C. cab drivers 
D. shoppers

40: The passage would most likely be followed by details about ________.


A. automated freeways

B. pollution restrictions in the future


C. the neighborhood of the future
D. electric shuttle buses

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closet in meaning to each of the following questions.

41. I wish my English were fluent enough to go for the interview.

A. My English were too fluent to go for the interview.       


B. My English is fluent enough to go for the interview.


C. If only my English were fluent enough for me to go for the interview.


D. My English were fluent enough and I could go for the interview.

42. William runs faster than any boys in his class.

A. No boy in William’s class can run as fast as him.             B. William is the quickest boy in his class.


C. William is running faster than anyone else in his class.     D. William runs the fastest in his school.

43. “Could you wait a second while I get my books?” Peter said to Jane.


A. Peter said to Jane to wait a second while he got his books.


B. Peter said to Jane she could wait a second while he got his books.


C. Peter asked Jane could wait a second while he got his books.


D. Peter asked Jane to wait a second while he got his books.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

44. The training course is too expensive; I can’t afford it.

A. The training course is such expensive that I can’t afford it.


B. The training course is too expensive for me to attend.


C. It was such an expensive course that I couldn’t afford it.


D. The training course is not enough cheap for me to attend.

45. “If I were you, I'd look for another job.”

A. I suggest your looking for another job.
B. I suggest that you would look for another job.


C. I suggest you to look for another job.
D. I suggest that you look for another job.

Read the following passage and mark the letter A, B, C, or D to indicate the best option for each of the blanks.

The World Trade Organization (WTO) has 150 member countries. They are looking to improve trade. Trade means the buying and selling goods. The WTO provides a place where these countries can talk about what they need. The goal of the WTO is to make trade grow by removing legal barriers between countries.


The WTO helps trade in several ways. First, it asks countries to treat each other equally. They should not give special trade deals to one country and not to another. Also, these countries should not try to stop foreign products from any one country. The idea is that goods and services should be able to cross borders easily. The second way to improve trade is to lower tariffs. These are special taxes for things bought and sold. The third way to strengthen trade is to make sure that the rules will stay the same. In order for people to invest their money, they need to feel secure for the future. The fourth way is to allow greater competitions between countries. The central belief is that competitions make for a stronger economy. The last way to improve trade is to help countries that are poor. They need help coming up to the level of modern countries. They can be helped by allowing them extra time to get their systems in order. They can be given priority in making deals with other countries.


Free and easy trade is the WTO’s goal. It supports rich countries and helps poor ones get ahead. It is one way of improving the lives of more people in the world. It asks countries to make laws that help this process. Every year, more countries apply to be in the WTO. They see membership as a good thing.

46.   It can be inferred from the passage that________.

A. the WTO helps remove political barriers between countries.


B. the WTO’s goal is to trade with other organizations.


C. the WTO is a multi-national organization.


D. few countries want to become a member of the WTO.

47.   The word ‘barriers’ in paragraph 1 is closest in meaning to________.

A. borders
B. documents
C. obstacles
D. bans

48. Which of the following does not support the idea that the WTO provides a way for countries to improve trade?


A. Countries should allow goods and services to cross borders easily



B. Countries should be fair to one another and help poor members.



C. Countries should lower tariffs and make investors feel secure.




D. Countries should allow time to raise taxes.

49.  All of the statements below are correct EXCEPT________.

A. The goal of the WTO is to improve trade
B. The WTO supports poor countries



C. Rich countries are given priority
D. Many countries apply to be in the WTO every year.

50.  According to paragraph 3, the WTO________.

A. asks rich countries to help poor ones
B. helps improve the lives of more people in the world


C. helps rich countries get ahead
D. gives poor countries lots of food.

PRACTICE TEST   5

Mark the letter A, B, C, D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions

1.  A. succeed
B. accept
C. account
D. accident

2.  A. right
B. private
C. include
D. minority

Mark the letter A, B, C, D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions
3. A. economic
B. happiness
C. situation
D. Vietnamese

4. A. walking
B. confide
C. system
D. stadium
Mark the letter A, B, C, D on your answer sheet to indicate the underlined part that needs correction in each of the following questions

5. Linda, as well as her classmates, are taking part in the annual English Speaking Competition.

                                A                                 B                 C                                   D

6. It was not until John came then the students stopped talking.



        A                    B         C
            D

7. What he enjoys doing most in his free time is going fishing, taking photos or sometimes travel.

            A                                          B                      C                                                D

Mark the letter A, B, C, D on your answer sheet to indicate the correct answer to each of the following questions

8. The architect ___________ Mario works is brilliant.


A. whom
B. that
C. with whom
D. with who

9. They had finished doing housework by the time their mother _____________ home, at 6 p.m yesterday.


A. gets
B. got
C. had got
D. was getting

10. The book that I bought yesterday is _________ the ones on the shelf.


A. half as much as
B.  many as half as
C. much as half as
D. much half as 

11. I decided to _____ the habit of smoking last month.


A. beat
B. take
C. get
D. break

12. Is this true that this country produces more oil than __________?


A. any other country
B. any other countries
C. any countries else
D. any country else

13. The committee was _______ in 1912.



A. found
B. initiated
C. sent
D. established

14. Everyone is entitled to a ticket, _________ of where they come from.


A. irrelevant
B. irregular
C. incidental
D. irrespective

15. He had to borrow his brother’s car because his is ________ for two days. 


A. off work
B. out of work
C. off chance
D. out of order

16. Anh Vien, a great young swimmer, ___________  set new records in the sport.


A. it is said to have
B. she is said to have
C. is said to have
D. she is said that she has

17. The teacher told his students______ laughing.


A. would stop
B. to stop
C. stop
D. stopped

18. That old worker is living on his _________. 


A. mission
B. service
C. pension
D. prison

19. We are looking ________________ our next camping trip. 


A. down on
B. forward to
C. up to
D. up in

20. In Vietnam, two, three or even four generations live _____ one roof.


A. in
B. over
C. with
D. under

21. The film didn’t really _______our expectation, unfortunately.


A. put in for
B. come up to
C. fall short of
D. meet with

Mark the letter A, B, C, D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions

22. If you don’t tell your children the difference between right and wrong, they will soon be out of control.


A. well behaved
B. badly behaved
C. suddenly behaved
D. quickly behaved  

23. Certain courses are compulsory; others are optional. 
      A. voluntary
B. free     
C. pressure     
D. mandatory       

Mark the letter A, B, C, D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions

24. He was asked to account for his presence at the scene of crime.

      A. complain 
B. exchange 
C. explain  
D. arrange

25. I can’t wait to hear about your English class.

     A. am eager to
B. am late to
C. am indifferent 
D. am happy to

Mark the letter A, B, C, D on your answer sheet to indicate the most suitable response to complete each of the following exchanges

26.  Lan: “Would you say the Great Wall is among the seven man-made wonders of the world?”

      Trang: “ 
”


A. That’s the least I could do.
B. Do you think so, too?


C. There’s no doubt about that.
D. It was created by ancient Chinese people, wasn’t it?

27. Would you mind closing the window please?


A. Yes of course. Are you cold?
B. No, not at all. I will close it now. 


C. Yes I do. You can close it.
D. Yes of course you can do it.

Mark the letter A, B, C, D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions

28. “If I were you, I would never be so rude to her.” He said to me.


A. He advised me not to be so rude to her.
B. He suggested that I be rude to her.


C. He said that he would never be so rude to her.
D. He reminded me of being so rude to her.

29. The heavy rain prevented us from taking part in the race.


A. Although it rained heavily, we still took part in the race.


B. Because of the rain, we still took part in the race.


C. If it doesn’t rain, we will take part in the race.


D. Had it not been for the heavy rain, we would have taken part in the race. 

30. People say that the world temperature has increased dramatically in the last few decades.


A. The world temperature has increased dramatically in the last few decades, people say.


B. The world temperature is said to have increased dramatically in the last few decades.


C. The world temperature says to have increased dramatically in the last few decades.


D. The world temperature is said to has increased dramatically in the last few decades.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
31. The man wanted to get some fresh air in the room. He opened the window.


A. The man wanted to get some fresh air in the room because he opened the window.


B. The man opened the window in order to get some fresh air in the room.


C. The man got some fresh air in the room, even though he opened the window.


D. Having opened the window, the room could get some fresh air.

32. Kim forgot her keys. Kim was locked out.


A. Kim forgot her keys therefore she was locked out.

  B. Kim forgot her keys and Kim was locked out.


C. Kim forgot her keys because she was locked out.

   D. Kim forgot her keys however she was locked out.

Read the following passage and mark the letter A, B, C, D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

A FAIR WAGE?


What constitutes a fair wage? The (33) ___________of money that people earn is in reality determined not by fairness but by market forces. This fact, however, should not prevent us from trying to devise a mechanism for deciding what is the right pay for the job.


A starting point for such an investigation would be to try to decide the ratio which ought to exist (34) __________ the highest and the lowest paid. The picture is made more complicated by two factors. The first is the 'social wage', that is, the benefits-such as holiday, sick pay and maternity leave-which every citizen is entitled too.

Secondly, the taxation system is often (35) ____________ an instrument of social justice by taking the rich at a very high rate indeed.


Allowing for these two things, most countries now regard as socially acceptable a ratio of 7.1 between the highest and the lowest paid.

If the ratio is narrower, the highly-qualified people who usually carry heavy (36) ____________ may become so dissatisfied that they end up emigrating (the so-called 'brain drain').


But, if it is wider, the(37) ____________ between rich and poor will be so wide that it will lead to social tension and, in extreme cases, to violence and revolution.

33. A. amount
B. sum
C. number
D. quantity

34. A. under
B. among
C. upon
D. between

35. A. made of
B. included in
C. referred to
D. used as


36. A. jobs
B. duties
C. responsibilities 
D. works

37. A. distance
B. gap
C. way
D. path 

Read the following passage and mark the letter A, B, C, D on your answer sheet to indicate the correct answer to each of the following questions.

PLANET EARTH


The planet Earth is 4,600 million years old. It is difficult for us to think about such an enormous length of time because it has little meaning for us. We can, however, simplify the idea to make it more understandable. We can compare the planet Earth to a person of forty-six years of age.


Nothing is known about the first seven years of this person's life. Very little information exists about the middle period either. It was only at the age of forty-two that the Earth began to flower.


Dinosaurs and great reptiles did not appear until one year ago, when the planet was forty-five. Mammals only arrived eight months ago. In the middle of last week, man-like apes became apelike men and began to communicate with each other. Last weekend, the Ice Age covered the Earth.


Modern man has only been around for four hours. During the last hour man discovered agriculture. The Industrial Revolution and rise of large cities began just sixty second ago.


During that short time, modern man has made a rubbish tip of the Earth. In one minute, he has increased his numbers to terrible proportions, and has caused the death of hundreds of species of animals. He has robbed and destroyed the planet in his search for fuels. Now he stands, like a violent, spoilt child, delighted at the speed of his rise to power, on the edge of the final mass destruction and of killing all the life which exists in the solar system.

38. The passage tells us that _________.


A. the planet Earth more is known about the first part of the Earth's life than the middle part


B. life on Earth began relatively recently


C. scientists are well-informed about the middle part of the Earth's life


D. a great deal is known about how the Earth was created

39. The word “it” in paragraph 1 refers to ________.


A. the planet Earth
 B. length of time
C. person's life
D. the idea

40. The word “flower”” in paragraph 2 is closest in meaning to _______.


A. bloom
B. exchange
C. change
D. convert

41. It would appear that the main danger ahead is that


A. man will destroy everything on Earth
B. there will be a population explosion

 
C. more species of animal may die out
D. man will use up all the fuels

42. The author's general view of man seems to be that____________

 
A. he has no right to be so destructive
B. he has been the most successful animal


C. he has learned a lot from past mistakes
D. he will be able to control the environment

Read the following passage and mark the letter A, B, C, D on your answer sheet to indicate the correct answer to each of the following questions.

Ocean water plays an indispensable role in supporting life. The great ocean basins hold about 300 million cubic miles of water. From this vast amount, about 80,000 cubic miles of water are sucked into the atmosphere each year by evaporation and returned by precipitation and drainage to the ocean. More than 24,000 cubic miles of rain descend annually upon the continents. This vast amount is required to replenish the lakes and streams, springs and water tables on which all flora and fauna are dependent. Thus, the hydrosphere permits organic existence.

        The hydrosphere has strange characteristics because water has properties unlike those of any other liquid. One anomaly is that water upon freezing expands by about 9 percent, whereas most liquids contract on cooling. For this reason, ice floats on water bodies instead of sinking to the bottom. If the ice sank, the hydrosphere would soon be frozen solidly, except for a thin layer of surface melt water during the summer season. Thus, all aquatic life would be destroyed and the interchange of warm and cold currents, which moderates climate, would be notably absent.

       Another outstanding characteristic of water is that water has a heat capacity which is the highest of all liquids and solids except ammonia. This characteristic enables the oceans to absorb and store vast quantities of heat, thereby often preventing climatic extremes. In addition, water dissolves more substances than any other liquid. It is this characteristic which helps make oceans a great storehouse for minerals which have been washed down from the continents. In several areas of the world these minerals are being commercially exploited. Solar evaporation of salt is widely practised, potash is extracted from the Dead Sea, and magnesium is produced from sea water along the American Gulf Coast.

43.   The author’s main purpose in this passage is to ___________.


A. illustrate the importance of conserving water
B. describe the properties and uses of water


C. compare water with other liquids                 
D. explain how water is used in commerce and industry

44.   The phrase “this vast amount” in paragraph 1 refers to ________.

A. 80,000 million cubic miles of water
B. 24,000 cubic miles of rain

C. 80,000 cubic miles of water
D. 300 million cubic miles of water

45.   The word “replenish” in paragraph 1 can best replaced by ______.

A. fill again
B. replace
C. evaporate
D. form

46. According to the passage, fish can survive in the oceans because ________.

A. evaporation and condensation create a water cycle
B. there are currents in the oceans

C. they do not need oxygen                                       
D. ice floats

47.  Which of the following is NOT mentioned as a characteristic of water?


A. Water can absorb heat

B. Water is good solvent.


C. Water contracts on cooling
D. Water expands when it is frozen

48. The word “outstanding” in paragraph 3 is closest in meaning to ________.


A. exceptionally good  
B. special
C. amusing
D. important

49.   According the passage, the hydrosphere is NOT ________.


A. the part of the earth covered by water
B. responsible for all forms of life


C. in danger of freezing over

D. a source of natural resources

50.   Which of the following statements would be the most likely to begin the paragraph immediately following the passage?


A. Water has the ability to erode land


B. Droughts and flooding are two types of disasters associated with water


C. Another remarkably property of ice is its strength

 
D. Magnesium is widely used in metallurgical processes
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